NEW FUNCTIONS FROM OLD
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    a.  How do these graphs differ? How are they similar? 
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    a.  How do these graphs differ? How are they similar? 

    b.  Given any function 
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    a.  How do these graphs differ? How are they similar? 

    b.  Given any function 
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    a.  How do these graphs differ? How are they similar? 

    b.  Given any function 
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    a. How do these graphs differ? How are they similar? 

    b. Given any function 
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    c. Compare the graphs of 
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6. How would the graph of 
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7. Write an expression that would represent a graph of 
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that has been shifted right 2 units 

     and then reflected across the y-axis. Does the order matter?
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